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Aufgabe 1 (10 Punkte)
Solve the following LP:

maximize ;1 — T3 + X3
subject to
201 — X9 + 223 < 4
2.1'1 — 3£C2 + 3 < - 5
—r1 + X2 — 2$3 < — 1
Ty , T , x3 > 0

Aufgabe 2 (10 Punkte)
Find the dual (D) of the following Linear Program (P):

maximize —r; + 2o
subject to
—I < -1
T < 1
T , X9 Z 0

Show that the solution to (D) and (P) is the same without using Strong Duality or finding
the dual of (D).

Aufgabe 3 (10 Punkte)

(Note : Solve after Friday’s lecture.)
How can infeasibility be detected in Seidel’s algorithm?



